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It E R EF R E B3 1

BEYRET (BB
3=+ No. I & 7S - H{ | #2 E m =

1 |EEEERR UMY As t=15cm m 1 1,258 -

2 |EREERRUIRT As t=30cm m 1 2,692 -

3 |EERAR YT Co t=1bcm m 1 2,289 -

4 |EBEERR UMY Co t=30cm m 1 5,914 -

5 |EERRAEREEIA m2 1 3,063 | (I#EIELT)

6 |[BEmEeY bl #5Co ANET m3 1 60,336 -

7 |EEmEY bl #EHCo MM T m3 1 14,612 -

8 |B&EmEY bl E#Co ANmETL m3 1 101,232 -

9 |#EEmEY bl B85Co T m3 1 29,466 -
10 [va-nvdvy 7 nyhfE | BRI ARE m2 1 4,334 -

11 |RE (WmEL) DIDB#&F L=1.0kn m3 1 3,972 | (I#EELT)
12 |8l (MWERL) DIDE#EH L =3.0km m3 1 6,357 | (VNiRIELT)
13 |REM (WmEL) DIDB#&EF L =5.0kn m3 1 8,740 | (NR#ELT)
14 |REf (MERL) DIDAE#EF L =12.0kn m3 1 14,301 | (NVRELET)
15 |REd (MWL) DIDB &I L =16.0kn m3 1 18,288 | (/NEELT)
16 |BEi (W) DIDAE#EF L =26.0km m3 1 23,850 | (/#EIELET)
17 |HIRLT < VR—ILHEIFL ¢ 150 Bl 1 9,630 -
+ I (BREH)
3=+ No. I & 7S - H | #2 E m =
51 |HEmIEEIT 78 —7 8 L#&0.13m3 m3 1 5,918 -

52 |BR¥E Y AT m3 1 18,234 -

53 |IEHIT AN - EwGER m3 1 9,612 -

54 |HBIEAERT BHL#&0.13m3 m3 1 7,025 |®4+

55 |MEMIAERT BH1L#0.13m3 m3 1 16,551 |RC40

56 |MERET AN m3 1 21,906 [ZEiEr)

57 |FALEKRT DIDE#EHE L =3.0km m3 1 5,608 |DT2t1& #

58 |FAELEHRT DIDBE#EH L =5.0km m3 1 6,856 |DT2t1& &

59 |FALEHRT DIDE#EH L =12.0kn m3 1 11,219 |DT2tiE &

60 |FAELTEHRT DIDAE#F L =16.0km m3 1 14,335 |DT2tF&E &

61 |FELEHRT DIDE#EFH L =20.0km m3 1 18,700 |DT2tHE &
I ETL (BREH(H)
3=+ No. I & S - H | #2 E m =
101 |EfEHRES L OCXERMAT [BfTERL<3m m 1 37,026 |AECo - BEUSN
102 |EfdEHHZES L OXERAT [BTERL<SmM m 1 43,560 [&%ECo - BB LIS
103 |EfEHES L OXERMT [BTERL<12m m 1 50,094 |AECo - BEUSN
104 |Ef4EHES LOZERNT [BTERL<3mM m 1 40,734 [RECo - FE
105 |[EfTEH®RS L OXERMAT |BUTERL<Em m 1 47,916 |&%ECo - BE
106 |EfIEHES LOCXERET [BTERL<12m m 1 55,116 |&~ECo - lE
107 (&5 BEREKE VU ¢ 200 m 1 5,286 -
108 |[ANEIEEAT A 1 104,004 |# T4t

109 |(NEIEEST Elzid 1 125,514 |# T #

110 |E#T Elzii 1 64,800 -
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It E R EF R E B3 1
HET (BREM)
1-1 No. I =& oK HA | 2 ==X wm =
151 |BEZIE HEMER L m2 1 226 -
152 |[RBEEIE HEMM-25 t=20mm m2 1 484 -
153 [F/ER&#E (RC-40) t=200mm m2 1 3,065 |As-E
154 | TR (RC-40) t=250mm m2 1 4,685 |As-L. As-A. Co-L. Co-A
155 [F/ERg# (RC-40) t=350mm m2 1 5,646 [As-B. As-C. Co-B, Co-C
156 | LfER&aE (M-25) t=120mm m2 1 2,761 |As-E
157 | EER&EE (M-40) t=170mm m2 1 4,537 |As-L
158 | LEE (M-40) t=200mm m2 1 4,935 |As-A
159 | L/ER&EE (M-40) t=250mm m2 1 5,599 [As-B
160 | L/Be&a (M-40) t=320mm m2 1 7,669 |Co-L
161 | EEKRE (M-40) t=350mm m2 1 8,067 |As-C. Co-A
162 | LE&# (RC-40) t=100mm m2 1 2,102 |538-As
163 [EEB&E (RC-40) t=140mm m2 1 2,487 [#:8-Co
164 | LER&# (RC-40) t=160mm m2 1 3,817 [$E-AsFEAN, HiE-Int
165 |EEB&E (RC-40) t=220mm m2 1 4,395 |$E-Co’AN
166 | LfEi&# (RC-40) t=230mm m2 1 4,491 [$38-CoAN, HME-IntFEAN
167 |LEERRE (AsTEMLE) (W<1l.4m t=50mn m2 1 5,794 -
168 | L/EiE#E (AsLEME) |W=3.0m t=50mm m2 1 4,098 -
169 |&£E (=& - BEEREAs20) |W<1.4m t=50mm 7 7{h3-F| m2 1 5,999 | B&
170 |&E (358 - BEEREAs20) (W=3.0m t=50mm 7 74/43-F| m2 1 4,305 (&
171 |2E-+mE @6 semmEas20) |W<1l.4m  t=50mm  2y/3— k| m2 1 6,055 |I21&. As-B. As-C
172 |2E-+mE (2% sEEnEAs20) |W=3.0m t=50mm 4y/3— k[ m2 1 4,134 [E&, As-B. As-C
173 |£B (&% B4ZHREAsSIF) |W<1l.4m t=30mm 7 7{A3-F[ m?2 1 4,656 -
174 |£8 (B8 - BEFRNEAS20F) |W<1l.4m t=50mm 7 74h3-F| m?2 1 6,089 -
175 |2E (&% - BEFHEAS20F) |W=3.0m t=50mm 7 7/h3-F| m2 1 4,395 -
176 |£B (& - BEZHAEAS20F) |W<1.4m t=b50mm Z2y/3—F m?2 1 5,918 -
177 |&E (=8 - BEZHEAs20F) (W=3.0m t=50mm %y/3a—+r| m2 1 4,224 -
178 |v4-ny¥vy 7 ny k& [t=60mm m2 1 13,140 -
179 Uva-nyxvy 7 nyys%iE  |t=80mm m2 1 13,734 -
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T ERESERE B3 1
REZT - zfth (BREH(H)
1-F No. T & G - HAL | 2 =¥ m =
201 =BT ;B2 EHIR=1.5m m 1 10,888 -
202 [XBHI ; BRE YEHE =2.0m m 1 11,719 -
203 [XBHI ;B2 TEHIR =2.5m m 1 14,826 -
204 [XBHT ; BE fEHIE=3.0m m 1 16,200 -
205 |[XBHI ;s BE JEHIR =3.5m m 1 17,031 -
206 |[XBHI ; BE YEHE =3.8m m 1 21,301 -
207 [RSHER ER WEIE=15m MBIEE=20m| = 1 6,073 -
208 |EEHAR ER BYSE=1.5m MEIZEE=3.0m| = 1 8,083 -
209 [RSHER ER WEIE=15m MEIEE=40m| = 1 9,948 -
210 |HEHAR ER IBYSE=1.5m MIZEE=50m| = 1 12,114 -
211 [RSHER &R EEIE=20m MBIEE=20m| = 1 7,164 -
212 [REHER ER EYIE=2.0m BIEE=30m| = 1 9,725 -
213 [REHEIR B EYSE=2.0m MBIZEE=40m| = 1 12,128 -
214 |EEMWMAR ER IBYSE=2.0m MIZEE=50m| = 1 14,846 _
215 [RSHER &R WEIE=25m BIEE=20m| = 1 10,614 -
216 |HEHAR ER IBYSE=25m MIZEE=3.0m| = 1 13,883 -
217 [RSBHER &R WEIE=25m BIEE=40m| = 1 16,837 -
218 [BREMHER ER EYIE=25m BIEE=50m| = 1 20,408 -
219 [RSHER ER EEIE=3.0m MBIEE=20m| = 1 11,705 -
220 |EmEHAR ER IBYSE=3.0m MEIZEE=3.0m| = 1 15,525 -
221 [BREHEIR B EYSE=3.0m MBIZEE=40m| = 1 19,018 -
222 |HMEWAR ER IBYIE=3.8m MEIZEE=2.0m| = 1 15,822 -
223 [RSBHER ER EEIE=38m MEIEE=30m| = 1 20,655 -
224 |EEWAR ER EEE=38m MBIEE=40m| = 1 25,029 -
225 [KBELT #50mm  0.4kw {EZRHEAK|[ H 1 10,832 |BKR > 7&E¥r
226 | R 7HlRAT - WMET R 1 3,470 |k T
227 |RBFEEMEA A-H| 1 30,060 -
228 |BFEEHESB A-Hl 1 25,560 -
229 |EB(EXE A 1 43,380 -
230 |FEIE(EEE A 1 49,140 -
MRE
1-F No. N v - B | HE ==k m =
251 | FA0EMA %R — bk |0E400mm > L m 1 531 -
252 |TAGER EHRAPTRT— 7 |iE 30mm m 1 99 -
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T ERESERE B3 1
BEYRET (RHEE)
1-1 No. I & 7S - H{ | #2 ==X wm =
1001 |&BZERREIMT As t=15cm m 1 1,571 -
1002 |&HEERRIIAT As t=30cm m 1 3,193 -
1003 |&HZERREIMT Co t=1bcm m 1 2,782 -
1004 | &% RRIIAT Co t=30cm m 1 6,861 -
1005 |&hEEhRARATRIA m2 1 3,992 | (#EIELT)
1006 |BE&HmE Y b L #5Co ANET m3 1 88,902 -
1007 |@&Hme Y 2hL #EACo MWL m3 1 19,872 -
1008 |B&Hme Y 2h L E#Co ANmETL m3 1 149,706 -
1009 |@E&HmE Y ZhL E#Co ML m3 1 40,752 -
1010 (v4-ny%vy 7 nyoiE | BRI REE m2 1 6,501 -
1011 |8 (HEmiEA) DIDE#EHE L=1.0km m3 1 5,193 | (#EIELT)
1012 |8 (HmiER) DIDBE#EH L =3.0km m3 1 8,307 | (NR#ELT)
1013 |8 (HEmiEA) DIDE#EHE L=5.0km m3 1 11,421 | UNBEEBELT)
1014 |2 (EmiEA) DIDAE#EH L =12.0km m3 1 18,702 | (RIELT)
1015 |mo@ik (HmAEIA) DIDH#EFH L =16.0km m3 1 23,886 | (NEIELT)
1016 |RxEM (HEWiEA) DIDE#EH L =26.0km m3 1 31,158 | (/MEELT)
1017 |BIFLT < vR—ILHIFL ¢ 150 Bl 1 13,963 -
+ I (RREE®)
1-1 No. I & 7S - H | #2 ==X wm =
1051 |#tiEs T 78 —7 8 L#&0.13m3 m3 1 8,276 -
1052 |FRIBY AT m3 1 26,388 -
1053 |#EHIT AT - BEGER m3 1 13,708 -
1054 |HH A BRET BHL#&0.13m3 m3 1 9,919 [FE£+
1055 | ABRT BHL#%0.13m3 m3 1 19,445 |RC40
1056 |MpERET AT m3 1 26,055 [ZEiER)
1057 |HELEWT DIDAH & L =3.0km m3 1 7,295 [DT2tE #
1058 |H4 @R T DIDAE#F L =5.0kn m3 1 8,917 |DT2t1& #
1059 |FELEWT DIDE#EH L =12.0kn m3 1 14,592 |DT2tHE A
1060 |F4 @R T DIDE#EH L =16.0km m3 1 18,646 |DT2tHE A
1061 |FHELEWT DIDE#EH L =20.0km m3 1 24,321 [DT2tHE A
DIETL (&EEH)
1-1 No. I & S - H | #2 ==X wm =
1101 |EMEHHES L OXERGT |BTERL<3m m 1 44,442 |AZECo - BB LIS
1102 |BAEHBS L OXERA T [BFEREL<SmM m 1 52,272 |&&Co - FELISL
1103 [EfEHHS L OXERG T |BHERL<12m m 1 60,120 |AECo - BE U
1104 B EHHS L OXERG T |BTERL<3m m 1 48,888 [&~ECo - E
1105 |EfdEHHS L OXERAT |[IFERL<SmM m 1 57,510 |&%&ECo - &
1106 B EHHZS L OXERE T | ERL<12m m 1 66,132 |[&~ECo - lE
1107 |&E ; BREKE VU ¢ 200 m 1 5,778 -
1108 |AEIEERT A 1 113,724 | T4t
1109 |AEIEERT AT 1 137,826 |# Tt
1110 |EZHT AT 1 87,480 -
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It E R EF R E B3 1
WERT (REEE)
1-1 No. I =& oK H{ | #2 ==X wm =
1151 | RERIE HEMER L m2 1 304 -
1152 | REEIE HEMM-25  t=20mn m2 1 559 -
1153 | T (RC-40) t=200mm m2 1 3,578 |As-E
1154 | B (RC-40) t=250mm m2 1 5,711 |As-L. As-A. Co-L. Co-A
1155 | T (RC-40) t=350mm m2 1 6,674 [As-B. As-C. Co-B, Co-C
1156 | LERERR (M-25) t=120mm m2 1 3,276 |As-E
1157 | EEREE (M-40) t=170mm m2 1 5,563 [As-L
1158 | L/ERE#ER (M-40) t=200mm m2 1 5,961 |As-A
1159 | EEEE (M-40) t=250mm m2 1 6,625 [As-B
1160 | L/EREER (M-40) t=320mm m2 1 9,210 [Co-L
1161 | EEREE (M-40) t=350mm m2 1 9,608 |As-C, Co-A
1162 | L/ERE#ER (RC-40) t=100mm m2 1 2,615 [$3E-As
1163 | EERE#E (RC-40) t=140mm m2 1 3,000 [#:&-Co
1164 | LERE#EE (RC-40) t=160mm m2 1 4,845 | #HE-AsFTEAN, HiE-Int
1165 | EERE#EE (RC-40) t=220mm m2 1 5,421 [£E-CoEAMN
1166 | EEEE# (RC-40) t=230mm m2 1 5,518 |#5iE-CoAN, HilE-IntEAN
1167 | EBEHE (AsTEMIE) |W<1.4m t=50mn m2 1 7,128 -
1168 | LB (AsREMIE) (W=3.0m t=50mm m2 1 4,570 -
1169 |&£E (=8 - BERMEAs20) |W<1.4m t=50mm 7 74L31-F| m2 1 7,333 | B&
1170 |8 (=1 - BEAMEAS20) |W=3.0m t=50mm 7 3{/h1-F| m2 1 4,777 | B&
1171 |28 - wmE (&5 - mamugas20) |W<1.4m  t=50mm Zy73a— k| m2 1 7,162 |I21&. As-B. As-C
1172 |88 - +mE (&6 - samEas20) |[W=3.0m t=50mm %y/a— k| m2 1 4,606 [E&, As-B. As-C
1173 |®E (FE - BEEHEASISF) |W<1.4m t=30mm 7 74/L3-F| m2 1 5,898 -
1174 |xE (FE - BEBHEAS20F) |W<1.4m t=50mm 7 74h3-F| m?2 1 7,423 -
1175 |%=E (& - BEEHEAS20F) [W=3.0m t=50mm 7 7{L3-F| m2 1 4,867 -
1176 |%=F (&3 - BABEREAS20F) [W<1.4m t=50mn 4y/3— k| m2 1 7,252 -
1177 |&E (£E - BEFHEAs20F) (W=3.0m t=50mm %y/3a—+t| m2 1 4,696 -
1178 [4v4-0v%vy 7 nyys%E  |t=60mm m2 1 15,040 -
1179 |{v4-0y¥vy 7 nyrskE  |t=80mm m2 1 15,723 -

5/7




T ERESERE B3 1
REXT - ZDfth (FRREH()
1-1 No. T & G - HAL | 2 =¥ wm =
1201 [T ; B EEHIE=1.5m m 1 15,294 -
1202 |+Bo I ; &#E fEEIE=2.0m m 1 16,457 -
1203 [ o T ; B IEEIE=25m m 1 20,930 -
1204 |+Bo I ; &#E YEHE =3.0m m 1 22,867 -
1205 | =BT ; &= IEEIE=3.5m m 1 24,030 -
1206 [ oI ; BE IEHIZ =3.8m m 1 30,187 -
1207 |REWER B EHR=15m BIEZER=20m| = 1 6,073 -
1208 |ZHEHER B BELE=15m MIEZER=3.0m| = 1 8,083 -
1209 |REWER B EHR=15m BIER=40m| = 1 9,948 -
1210 |BREMEIR EF EYIE=15m BIEE=50m| = 1 12,114 -
1211 |REMRR Er EEIR=20m MBIZE=20m| = 1 7,164 -
1212 |REMEIR EF EYIE=2.0m BIEE=30m| = 1 9,725 -
1213 |REMKRk &k EEIR=20m MBIZE=40m| = 1 12,128 -
1214 |REMEIR EF EYIE=2.0m BIEE=50m| = 1 14,846 -
1215 |REMRR &r EEIE=25m MBIZLE=20m| = 1 10,614 -
1216 |ZHEWRR ER BEE=25m MBIER=3.0m| = 1 13,883 -
1217 |REMKRk &r EEIR=25m MBILE=40m| == 1 16,837 -
1218 |ZHEWAR ER BEE=25m MIER=5.0m| = 1 20,408 -
1219 |REMKR &k EEIR=3.0m MBIZE=20m| == 1 11,705 -
1220 |ZHEWAR B BEE=3.0m MIER=3.0ml = 1 15,5625 -
1221 |REMKR &r EEIR=3.0m MBIZE=40m| = 1 19,018 -
1222 |REMEIR EF EYIE=38m BEIEE=20m| = 1 15,822 -
1223 |REWER E EHR=3.8m BIEZERK=3.0m|l = 1 20,655 -
1224 | mEWMEIR ER IEEIE=38m MIER=40m| = 1 25,029 -
1225 (k&L #50mm  0.4kw FEZERHEAK| H 1 14,779 |BKR > 7&¥r
1226 |7Ry 7 - BET Ri5 1 5,023 |AKET
1227 |ZOBEEZEHFE A A - H 1 43,668 -
1228 | RBFEERE B A H 1 37,296 -
1229 | E@1F%£E A 1 62,818 -
1230 |FFER1EEE A 1 70,756 -
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